Definition 2.13a
Die Abbildung
(.,.) 'ExE - R

X, V) (X Y) =X Y1+ X2 Yo,

wobel X := (Xl) undy::(yl)
X2 Y2

hei 3 inneres Produkt oder Skalarprodukt .
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X; = 1.028 [IX]l = 1.5
X> = 1.145 6 = 48.08°
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Dann gilt
X, y) = lIX|| - [Iyll - cos(e) ,
wobel a der von x und y eingeschlossene Winkel ist.

Beweis:
Mit
Xy = [IXI|-cos(B) , X2 = [IX|[-Sin(B) , y1 = lIYll-cos(y) , Y2 = [IVIl- sin(y)
folgt
X ¥Y) = Xi-Y1+X2-Y2
= [IXl|-cos(B) - [IYll - cos(y) + lIXI| - sin(B) - [yl - Sin(y)
= [IXI- Iyl - (cos(B) - cos(y) + sin(B) - sin(y))
= [IXI-1Ill-cos(B — )
= [IXI-llyll- cos(a) .

Esgilt allgemein: cos(a) = cos(—a) .

Pl ot [Cos[t], {t, -2m 2n}]
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Show[gl, g2]




